FA:ISEX R

FH: 40| S (4Y -

SA)Y/MLSEXE)

el SAIYELNS 0INEAE E XN

0
40
o

IS XD 23,713,138 22,042,141 1,670,997
= 5,825,000
< 17,888, 138

SAJY SEXNJ (LY - SAIY/AUAZENYH) 10,694,000 10,610,000 84,000

SAJY=ELEXN2 0lXE2d S K& 10,694,000 10,610,000 84,000

SAIIERLEXNS 0IXEE 10,074,000 9,960,000 114,000

307 2iztol & 10,074,000 9,960,000 114,000

0B OIXtEN= 10,074,000 9,960,000 114,000
OFZAFXZ OIXEA 8,373,000
O A JHUHASKS OINEH 1,701,000

SEMYHX 48 FH 620,000 650,000 230,000

307 212tol & 120,000 150,000 30,000

08 OIXEE 3 120,000 150,000 A30,000
oYUM EXN3 0IXEH 120,000

308 XX EtHI SO0l ™ 500,000 500,000 0

01 MR EES 500,000 500,000 0
oYM SF2&H X 350,000
OY=H H=XMeld K& 150,000

A JIYBY ST L (LY - BAIIY/MAINSKIH) 4,603,770 3,460, 100 1,143,670

SAJY BEELE XY 2,333,200 2,354,100 220,900

23 ZMEEEA0Y d=2=s4 X 64,000 24,000 40,000

201 €23 12,000 12,000 0

01 AR 22 12,000 12,000 0
OWHIY - FLUSAIIY EA & T 20 12,000

202 01l 4,000 4,000 0

01 =L Ol 4,000 4,000 0
OHWHIIY - RUSAIIY MEIY EXAAM 4,000

307 gi2tol & 48,000 8,000 40,000

02 otHAEx 48,000 8,000 40,000
OLHESAIIYUY 299 8,000
owHEIIY &4 40,000

A BEIIENE XY (SHEEXE) 1,150,000 1,162,000 A2,000

403 XM SX=01H 1,150,000 1,150,000 0

02 SII2SOICHECHEY AL HI 1,150,000 1,150,000 0
outstd BSJI=e N 1,150,000

AHEI HE D|dRLdeA X (SHEFXE) 250,000 500,000 A250,000

403 XM S K201 A 250,000 500,000 £250,000

02 SII2SOICHSCHEE AL HI 250,000 500,000 £250,000
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2A:

B

=EF

JIE X2

ZHO DTS SIZH (4 - SAIIY/MAINESKIH)

SAIGHES B2 Ey

2; 500

ozu =2 -
202 OfH 3,600 4,000 £400
01 2L o1 3,600 4,000 2400
SRR S L A HA 3,600
307 BI2HO| & 40,000 70,000 230,000
04 QI2ESALE T 40,000 70,000 £30,000
OZZ0f AILLES Nzl 40,000
OIS 223 L MEJ3MA Y 183,600 149,000 34,600
202 014 3,600 4,000 2400
01 2L oIl 3,600 4,000 A400
. OBAJIAYME SEOINE X 3,600
402 SI2HXH= 0| ™ 180,000 145,000 35,000
01 QIZtRH=EE X 180,000 145,000 35,000
OJI&NY ST st AS03 S 45,000
OReZAIY EE224 ALY X 50,000
OEAIY 24ME UKL HE N 85,000
B - BE YA CH 3 221,800 107,000 114,800
201 L2 5,900 1,000 4,900
01 At 221 5,900 1,000 4,900
OSAJIAHE B2 X 5,900
202 OfH 900 1,000 2100
01 2L oIl 900 1,000 A100
OFAl(Etat)s| &t 900
307 9I2t0| ™ 90,000 15,000 75,000
04 QIZIBHAB X 90,000 0 90,000
oy TCEras| HE XN 90,000
402 RIZEXH=2 0 & 125,000 90,000 35,000
01 QI =B X 125,000 90,000 35,000
O=2U |Y MALES &N 90,000
OFAIY R4HE E2IAS HMEH 35,000
XA #4835 X 202,640 202,700 260
202 O1H| 640 700 260
01 2Ol 640 700 A60
OFRHAN 435 =X 640
307 BI2t0| & 180,000 180,000 0
02 DIt AEE 180,000 180,000 0
OURDIE 435 29 180,000
402 RIZEXH=0| & 22,000 22,000 0
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SA: KR D
Hu: 2mo| J|YPY BAXTH (MY - FAIIY/MAI|ENR)
Bl SAJIYNBY BRE (el ®8)

01 QIEXI28 = 22,000 %ﬁ%‘ ‘d
OXXMANH B 22,000
S0 |4 & B-c 129,230 124,300 4,930
202 04| 630 700 AT0
01 =G 630 700 AT0
oznge =X 630
307 2iztol ™ 95,000 90,000 5,000
04 QIZHEALE X 15,000 10,000 5,000
OZtEUHE 2 15,000
05 QItRE S 80,000 80,000 0
OEEIN2 =ie2te 80,000
308 A XA SOl 33,600 33,600 0
01 AXSHBAERS 33,600 33,600 0
O30S 423 M 33,600
S&239 g4ds N 20,900 15,000 5,900
202 O H| 900 1,000 2100
01 = O HI 900 1,000 2100
OZzZY g48 900
307 212+0l ™ 20,000 14,000 6,000
04 QZHSALE R 20,000 14,000 6,000
OsE=E2dx Z&A 20,000
SaJlg #HEdst XY 1,446,300 400,000 1,046,300
Fd FYHELds NEMAH += 960,000 53,000 907,000
201 2E2 A 20,000 0 20,000
01 At 22l 20,000 0 20,000
CFHEY ZZHE 20,000
307 @120l & 20,000 13,000 7,000
04 QIHSHAE E 20,000 13,000 7,000
ouEty HAFZTU (ZRAAZ) M 20,000
402 BIZttE01 A 920,000 40,000 880,000
01 2228 = 920,000 40,000 880,000
ozgsoel g4 XY 40,000
OFHEY TIME FA 880,000
FUERHEH S48 =24 306,300 207,000 99,300
202 OiH| 6,300 7,000 AT700
01 =W obl 6,300 7,000 AT700
ozgdads 2= 6,300
402 21IZttE0l A 300,000 200,000 100,000
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SN IR D
M 2O JIYTY BAEM (MY - BAIIY/MAIEX)
B9l S0/ HABHE AR (29l &

&)

200,000 100,000

=2x ' 300,000
OHUBSME 529 X 300,000
HUMTHE SAXR(2INREXLY) 40,000 40,000 0
400 DIZHRHROI A 40,000 40,000 0
RS 40,000 40,000 0
OHAMTE 2UT2 73 XY 40,000
ol SAXY 140,000 0 140,000
307 BI2HO| & 20,000 0 20,000
02 CIAHASE 20,000 0 20,000
OALIO HIZE2IT 22X 20,000
400 DI E01 A 120,000 0 120,000
01 QI EEE 120,000 0 120,000
OMEY I2IY 2 120,000
UTR HE(ANB=X/EE) 6,963,315 4,989,000 1,074,315
= 5,825,000
= 1,138,315
Zmo)|2 84 XV 6,963,315 4,989,000 1,974,315
= 5,825,000
= 1,138,315
AMEIRIIY 24(27) 5,419,000 4,529,000 890,000
= 5,155,000
= 264,000
307 QI2H0| ® 100,000 0 100,000
= 80,000
| = 20,000
e 100,000 0 100,000
OXIHSSAY KR (Z) 100,000
= 80,000
= 20,000
308 XHXICHRIS Ol & 5,319,000 4,529,000 790,000
= 5,075,000
< 244,000
0l RXISHBNEED 5,319,000 4,529,000 790,000
oUNel HE 4,062,000
= 3,869,000
= 193,000
OAMLUTMNEH U XIASSAY X (AR) 1,257,000
= 1,206,000
= 51,000
MR B4 214,500 155,000 59,500
201 Lpr2o| 10,000 10,000 0
01 AFRZ2/H| 10,000 10,000 0
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BA: I3
M gxel ¥EMIAEX/=8)
Bl E¥eid 84 X (e

OMNBI=I Y & ) 10.000

202 Of Hl 4,500 5,000 2500
01 2L 04| 4,500 5,000 2500
OAMBIEIIY sS4 4,500
307 2120l A 40,000 40,000 0
02 RIAAMNTE 40,000 40,000 0
OAMBIEIIY 84 40,000
403 XXISHAM S AH=01E 160,000 100,000 60,000
01 AXSHAH =2 160,000 100,000 60,000
OABI =D Al&Hl X 160,000
o201 |84 34,500 305,000 A270,500
202 04 Hl 4,500 5,000 2500
01 2U 04l 4,500 5,000 2500
ongly |4 4,500
308 XX SHHISOI® 30,000 300,000 £270,000
01 IXSRHBAEX2 30,000 300,000 £270,000
onsIIY |4 30,000
By |4 Jens 361,000 0 361,000
307 2i2t0oi A : 284,000 0 284,000
02 QIANBE 284,000 0 284,000
OE®20|Q XYHEH 29 260,000
OE®2|0|Yl}t YHDK 24,000
402 QIZERHRO|® 77,000 0 77,000
01 Q2K EEE 77,000 0 77,000
OE2|0|e JIEHY X 50,000|
OLAT EmpD|Y YEYD 2= 27,000
NLZEH LKA (2D) 934,315 0 934,315
= 670,000
= 264,315
307 912+l & 180,900 0 180,900
=2 90,450
= 90,450
02 QI AE X 180,900 0 180,900
onglY |4 2Ly 180,900
= 90,450
= 90,450
308 KtXIEH X SO0I & 753,415 0 753,415
= 579,550
& 173,865
01 XA EETZ2 753,415 0 753,415
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753,415
= 579,550
= 173,865
HY=2 BI(OIZ X2 H) (J1EH/IIE 29,000 24,665 4,335
Jl=&Hl 29,000 24,665 4,335
A2 J123| 29,000 24,665 4,335
201 er23H| 22,000 18,425 3,575
01 At 22| 22,000 18,425 3,575
ORAN2E AMR2E 22,000
202 Ol 7,000 6,240 760
01 =LHOiHI 7,000 6,240 760
ORAN2E =U 7,000
HRESOILTE D) (4 - SAIY/MASEX 1,423,053 2,958,376 21,535,323
WEHchXE 1,000,000 2,500,000 21,500,000
SAIY=EHIIs 22 1,000,000 2,500,000 21,500,000
702018 8&E3 1,000,000 2,500,000 21,500,000
01 JI=sdE=s 1,000,000 2,500,000 A1,500,000
OsAIgE4II= &4 1,000,000
ERSPAE- 423,053 458,376 235,323
LR MHINIER 423,053 458,376 235,323
311 Xt SO Xtat e 23,053 58,376 235,323
06 JIEt XIS Ol Atat & 23,053 58,376 A35,323
OZAT&AF N 23,053
601 Xt SIS&E 400,000 400,000 0
06 JIEtF =X 2 & 400,000 400,000 0
OZHTLAAN 400,000
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